E)‘P a‘ng(\—} Pl'ﬁpt r""‘ S

Crcell O\.'s =00

s

= a kO

o
4
o= O0-& ... K

N time S

M wn +n

a4 = 0:" Rodnet Pf‘f‘f4y 3 3 =3
=3

a mn | s
_o? = O quHevr} Profer']'\/ —Z—_I-:L =5
.S’-?-

—2

2* =L

=T

&m n =0:4°"' Povser of Poger (56)325[..3:5,?

0\0 _ l Zevs Pover 0?: oG )
12° = l a":. Q-C :’50:"

G':al)b:l tlza ==&

= (3\~ 1\e ' N

i5) == (ﬁ) = | ao-'-% =% = |



v'

l
| S = —
A T o o O
o -
)= Newhve Bpoet 4T S0
y _ .
bo = 0? S
. S :
¢ | = ;ll_:l. \K«r Change Hp
-n ) ~t ]
Pe i s
AL -1 s .
) *(Z[-c) ET,‘_ *mﬂ'hply acrods
X
2.4 A TX T
o. - a‘-‘
_1l_.a
a* |
) l
- a("a-?k‘—
l
= )
(L W/}

1 _
N a3



(D\Qn - Ot‘b" Pswer o€ Ferduct
Qa

n M
(3 =& P Qe
szﬁé t= 5k
(2= (32) (1:6)'= 1" 6
- (g-z)(x-z.) = ].51
=12 -3 é"-réml/



3 7 3 a3
(%\Cﬁ)‘; 9 o ¢
q
:—éqacL
25 m
() - %5
?;st-
h‘l.b
-\ -1
o5 - &
b - -)
Oy =)
= a0 —k
1o L
= O - [3
| b
= - 0 —
O l
|
ORI



